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SEE 2078 (2022)
clgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fgclgjfo{ lj1fg

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;do M @ 306f !% ldg]6;do M @ 306f !% ldg]6;do M @ 306f !% ldg]6;do M @ 306f !% ldg]6;do M @ 306f !% ldg]6 k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%k"0ff{ª\s M &%

;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . ;a} k|Zgx¿sf] pQ/ lbg'xf];\ . (Answer all the questions.)
;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ (Group 'A')

!=!=!=!=!= tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ .tnsf k|Zgx?sf] 5f]6f] pQ/ lbg'xf];\ . 15x1=15
Write short answer of the following questions.
a. :jtGq v;fO{ eg]sf] s] xf] < (Define free fall ?)
b. jfo'd08nLo rfkdf cfwfl/t b'O{ oGqx?sf] gfd n]Vg'xf];\ .

Name two instruments that work due to atmospheric pressure.
c. cgljs/0fLo phf{sf] ;|f]tx?sf] kl/efiff n]Vg'xf];\ .

Define non-renewable energy source.
d. b'O{ ydf]{d]l6«s t/n kbfy{sf] gfd n]Vg'xf];\ . (Name two thermometric liquids.)
e. 6ª\:6]gsf] kUng] tfkqmd slt xf] < (What is melting point of tungsten ?)

f. ;+of]hg k|ltlj|mofsf] kl/efiff lbg'xf];\ . (Define combination reaction.)

g. cNsfnLsf] s'g} b'O{ pbfx/0fx? lbg'xf];\ . (Write any two examples of alkali.)
h. s'g tfkqmddf kmnfd cr'DjsLo kbfy{ aG5 <

At what temperature iron becomes a non-magnetic substance?
i. s[tLd /]zdsf] gfd n]Vg'xf];\ . (Name on artificial silk.)
j. /]]zd ls/fsf] nfef{ r/0fx?df sltcf]6f OG:6f/x? x'G5g\ <

How many instars do silkworm have in its larval stage?
k. b'O{ x]6]/f]j|mfOg u|GyLx?sf gfd n]Vg'xf];\ .

Name two heterocrine glands.
l. /ut hDgdf d2t ug]{ k|f]l6gsf] gfd n]Vg'xf];\ .

Name the protein that helps in blood clotting.
m. afO{g/L lkmzgåf/f k'gMpTkfbg x'g] hLjsf] Pp6f pbfx/0f lbg'xf];\ .

Name one organism that reproduces by binary fission.
n. jfo' k|b'if0f eg]sf] s] xf] < (Define air pollution.)
o. 8fOgf];/x? s'g cjlwdf nf]k eP <

In which era did dinosaurs become extinct?

;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ ;d"x ‘v’ (Group 'B') 13x2=26
@= lk08 / tf}ndf b'O{ leGgtf n]Vg'xf];\ .

Write any two differences between mass and weight.
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RE-111'A' (2)
#= glbdf eGbf ;d'Gb|df hxfhn] w]/} nf]8 jf]Sg ;S5, lsg <

Why is it the ship can carry more load in ocean than in a river ?
$= Go'lSno/ lkm;g / Go'lSno/ km\o'hgljr b'O{ leGgtf n]Vg'xf];\ .

Write any two differences between nuclear fission and nuclear fusion.
%= Pp6f afnssf] rZdfdf -2.5D n]lvPsf] 5 eg] pQm rZdfsf] s]Gb|Ls/0f b'/L slt

x'G5 < pQm rZdfsf] n]G;sf] k|sf/ klg n]Vg'xf];\ .
If -2.5D is written on the spectacles used by a boy, what is the focal length
of the lens used in spectacles?  Also, state the types of lens used.

^= lbO{Psf] ;lds/0faf6 k|fKt ug{ ;lsg] s'g} b'O{ hfgsf/Lx? n]Vg'xf];\ .
Write any two informations which can  be obtained from the given
chemical reaction.

4P +5O
2  

  2P
2
O

5

&= DofUg]l;od / gfO6«f]hg tTjx? lar x'g] /f;folgs k|ltlj|mofsf] ;Gt'lnt ;lds/0f
n]Vg'xf];\ . of] s'g k|sf/sf] /f;folgs k|ltlj|mof xf] <
Write the balanced chemical equation for the reaction between magnesium
and nitrogen. What type of chemical reaction is this?

*= ;'gsf] d'Vo Pp6f pkof]lutf sf/0f ;lxt n]Vg'xf];\ .
Write any one use of gold and given reason for that use.

(= h}ljsdn / /f;folgs dnsf Ps Ps cf]6f kmObf n]Vg'xf];\ .
Write an advantage each of orgainic and chemical fertilizers.

!)= /fgLdf}/L / sdL{ df}/Lsf] Ps Ps cf]6f sfo{ n]vg'xf];\ .
Write one function each of queen bee and worker bee.

!!= OShf]qmfOg / O08f]j|mfOg u|GyL ljr kfO{g] b'O{ km/s n]Vg'xf];\ .
Write any two difference between exocrine and endocrine glands.

!@= l;i6f]d]l6s / kNdf]g/L /Qm ;~rf/ lar s'g} b'O{cf]6f km/s n]Vg'xf];\ .
Write any two differences between systemic and pulmonary blood
circulation.

!#= s[lifhGo kbfy{sf] sf/0fn] s;/L kfgL k|b'lift x'G5 < s'g} b'O{ tYox? n]Vg'xf];\ .
How does water get polluted by agriculture products? Write any two facts.

!$= k'R5]«tf/f ;"o{ glhs cfp“bf k'R5/ nfdf] / ;"o{af6 6f9f hf“bf k'R5/ 5f]6f] b]lvG5, lsg <
Why does the tail of a comet appers longer as it comes closer to the sun
and appears shorter when it moves away from the sun?

;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ ;d"x ‘u’ (Group 'C') 6x3=18

!%= Pp6f d}gjQLnfO{ sGe]S; n]G;sf] % ;]=dL= cuf8L /flvPsf] 5 . pQm n]G;sf] s]lGb|s/0f
b'/L $ ;]=dL= 5 eg] n]G;n] agfpg] d}gjQLsf] cfs[ltnfO{ ls/0f /]vf lrqdf
b]vfpg'xf];\ . pSt cfs[ltsf] s'g} Ps ljz]iftf klg n]Vg'xf];\ .
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(3) RE-111'A'

A candle is kept 5 cm far from a convex lens. If the lens has focal length
of  4 cm, draw ray diagram to show the image formed by the lens. Also,
mention one characteristic nature of image so formed.

OR  -b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_
;fdfGo cf“vfsf] glhssf] ljGb' @% ;]=dL= x'G5 , olb s'g} cf“vf @) ;]=dL= sf] j:t' b]Vb}g
/ #% ;]=dL= 6f9fsf] j:t' b]Vg ;S5 eg] To:tf] sdhf]/LnfO{ s] elgG5 < of] cf“vfsf]
sdhf]/LnfO{ s;/L lgbfg ug{ ;lsG5 <
Ordinary eye's near point is 25 cm. If a person's eye can't see an object at
a distance of 20 cm but can see object at 35cm what type of defect of
vision does this person have?  How can this defect of vision be corrected?

!^= ;'idfsf] ;fOsndf 8fOgfdf] h8fg ul/Psf] 5 . h;sf] d2tn] pgsf] ;fOsndf /x]sf] aNj
aN5 . ha pgn] ;fOsn l56f] s'bfp“l5g aNjsf] pHofnf] a9\5 .
A dynamo is connected to Susma's bicycle. Bulb connected to her cycle
glows with the help of the dynamo. Brightness of the bulb increases when
she paddles the bicycle faster.
i) ;fOsn l56f] s'bfp“bf aNjsf] pHofnf] lsg a9]sf] xf]nf <
Why is brightness of bulb increased when she paddles the bicycle faster?

ii) o; k|of]udf 8fOgfdf]df ePsf] zlQm ?kfGt/0f n]Vg'xf];\ .
Write the energy transformation that takes place in the dynamo.
iii) 8fOgf]df]n] s'g l;åfGtsf] cfwf/df sfo{ u5{ <
On which principle does a dynamo work?

!&= tkfO{nfO{ k|of]ufTds k/LIffdf c08fsf] vf]:6f, xfO8«f]Snf]/Ls cDn, sf]gLsn km\nf:s, ss{,
lqmi6n kmg]n, 8]lne/L 6\o'j, Uof; hf/ / ln6d; k]k/ lbOPsf] 5 . lo ;fdu|Lx? k|of]u
u/]/ tkfO{ s'g Uof“; agfpg ;Sg'x'G5 < tkfO{n] ug]{ k|of]usf] gfdfª\lst ;kmf lrq sf]g'{xf];\ .
In a practical exam, you have been given egg shell, hydrochloric acid conical
flask, thistle funnel, cork delivery tube, gas jar and litmus paper. Which gas
can you prepare by using these materials? Draw a well labelled diagram
of your experiment.

OR  -b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_
dfyL lbOPsf j:t'x? k|of]u u/L k|of]uzfnfdf pko'St Uof; agfpg] k|lj|mof /f;folgs
k|ltlj|mof  ;lxt j0f{g ug'{xf];\ .
Explain the process of producing a gas using the substances given above.
Also write the chemical reaction.



RE-111'A' (4)

!*= tnsf] lrqdf Pp6f xfO8«f]sfa{gsf] c0f' b]vfO{Psf] 5 .
A molecular of a hydrocarbon is shown below.
i) of] c0f'sf] gfd, cf0fljs z'q / ;+/rgfTds z'q n]Vg'xf];\ .
Write the name, molecular formula and structural formula
of this hydrocarbon.

!(= lgDg cj:yfdf pko'St x'g] k|hgg ljlw ;lrq pNn]v ug'{xf];\ .
Mention the suitable reproduction method with a diagram in the flowing

cases.

i) Pp6f :ofpsf] 8f“7df b'O{cf]6f ;Log sndL ug{
To graft two scions on a stock of an apple plant.

ii) gf;kftLsf] jf]6sf] hldg glhs}sf] xf“ufsf] k|To]s cf“Vnfaf6 gof“ lj?jf pdfg{
To grow a new plant from every node on the pear plant branch that is
close to the ground.

OR  -b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_-b[li6ljlxgsf nflu dfq_
lj?jfsf] e]lh6]l6e k|f]kfu];gaf6 s[ifs s;/L nfeflGjt x'G5g < s'g} tLg tl/sf ;'emfpg'xf];\ .
How does a farmer benefit from vegetative propagation of plants? suggest
any three ways.

@)= kfgLsf] ;|f]tsf] ;+/If0f / Joj:yfkg ug{ s'g} tLgcf]6f pkfox? n]Vg'xf];\  .
Write any three ways of preserving and managing water sources.

;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ ;d"x ‘3’ (Group 'D')                            4x4=16

@!= lrqdf ;dfg lk08 / cfotg ePsf A, B  / C  tLgcf]6f wft'sf lk08x?nfO{ ;dfg tfkj|md x'g]
u/L ttfP/ d}gsf] ef8f]df /fv]sf] b]vfOPsf] 5 .  A, B / C  sf] ljlzi6 tfkwf/0f Ifdtf qmdzM
34J/kgoC, 400J/kgoC  / 900J/kgoC 5 . o;sf cfwf/df
lgDg k|Zgsf] pQ/ n]Vg'xf];\ .
In the figure,  A, B and C are three metal objects
of equal mass and volume. They are heated to
same temperature and then placed in a vessel
containing solid wax. The specific heat capacity
of  A, B and C are 234J/kgoC, 400j/kgoC and 900J/kgoC
 respectively. Based on this information, answer of the following questions.

i) s'g wft'df ;jeGbf a9L tfkzlQm x'G5 <
Which metal has the highest amount of heat energy?

H

H
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A B C
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ii) s'g wft' d}gsf] ef8f]df ;a}eGbf tn k'U5 <
Which metal goes the deepest into the wax vessel?
iii) s'g wft' ;a}eGbf l56f] lr;f] x'G5 <
Which metal cools the fastest?
iv) s'g wft'n] u'dfpg] tfksf] kl/df0f ;a} eGbf w]/} x'G5 <
Which metal has the highest amount of heat to lose?

@@= tTjx?nfO{ plrt j|mddf ldnfP/ /flvPsf] k]l/cf]l8s 6]jnsf]
b'O{cf]6f u'|'ksf] s]lx c+z tnsf] tflnsfdf b]vfOPsf 5 . o;
tflnsfsf] cfwf/df lgDg k|Zg?sf] pQ/ lbg'xf];\ .
A part of the periodic table with the element
placed in the suitable order is shown below.
Answer the following questions on the basis of the table.

i) o; lkl/of]l8s 6]jndf oL b'O{ u|'ksf] ;Rrf gfd s] xf]  n]Vg'xf];\ . pQm lg0f{odf tkfO{
s;/L k'Ug' eof] sf/0f lb'gxf];\ .
What is the proper name given to these two groups in a periodic table.
Explain how you reached the conclusion.
ii) plrt sf/0f ;lxt k|To]s u'|kdf /x]sf tTjx?sf] ;lqmotf t'ngf ug'{xf];\ .
Compare the reactivity of the elements of each group  with suitable reason.

@#= /fddfofn] tLg 5f]/Lx? hGd lbO{g . pgsf kl/jf/n] 5f]/L dfq} hGdfpg'df pgnfO{ bf]ifL
7x/fO/x]sf] 5 .
Rammaya has given birth to three daughters only. Her family is blaming
her for giving the birth to daughters.

i) æ5f]/L dfq hGdg'df /fddfof lhDd]jf/ 5}gg\ Æ egL ln· lgwf{/0fsf] rf6{ ;lxt ts{ ug'{xf];\ .
With the help of a sex-determination chart, justify that Rammaya is not
responsible for the birth of daughters.
ii) s'g} JoQmLdf @@ hf]8f c6f];f]d / Ps hf]8f ;]S; qmf]df]hf]dsf] ;§f Pp6f dfq
X- qmf]df]hf]d ePdf b]lvg] s'g} Ps c;fwf/0f nIf0f pNn]v ug'{xf];\ .
Mention an abnormality seen if an individual contains 22 pairs of
auto-some and only a single  X- chromosomes instead of a pair.

Group X Group Y
Li F
Na  Cl
K Br

(5) RE-111'A'
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RE-111'A' (6)

@$= tn lbOPsf] jfo'd08nsf rf/ txx?sf] cf};t df]6fOsf] cfwf/df lgDg k|Zgx?sf] hjfkm
lbg'xf];\ .
A- 60km
B- 640 km
C- 10km
D- 40km
i)  lo rf/ txx?nfO{ k[YjLsf] ;txb]lvsf] b'/L cg';f/ j|mddf -gfdfs/0f ;lxt_ n]Vg'xf];\ .
Arrange these four layers of atmosphere according to their distance from
the surface of the earth and write their names.
ii) lolgx?dWo] s'g tx ;~rf/sf] nflu pkof]uL 5 / lsg <
Which one of the layers is useful for communication and why?


